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- full marks for the questions.

Ahswer‘either in English or in Assarﬁese,i
1. Answer the following ql.iestions': | 1>.<8.=8
(a) What is supply ?
i e

(b) Mention one cause of shift in demand
. curve. '
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: Choose the correct answer :

GST is a/an (direct/ 1nd1rect)
tax.
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Mention one canon .,of taxation as given *

by Adam Smith.
Wﬁwﬂwrwaﬁmmtaﬁ@}ﬁs?

Fill in the blank

NDP at factor cost is
Income/National Income).
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What is ‘ex-ante’ savings ?
‘ex-arite” 6T Fe

. (Domestic

Write True or False :

- When demand is perfecﬂy inelastic,
~ elasticity of demand (eg) is zero..
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What is the main cause of

- .unemployment according to Keynes ?

@Wﬂwﬁmwwﬁwqﬁs?

'Answer any six of the following questlons

2x6=12
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What is opportumty cost? Give a.
* suitable example '
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(c)

(d)
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Write two key characteristics uo.f
monopoly that distinguishes it from
perfect competition.

SO TS 757 amqataﬁ%ﬁ‘cmw

R ﬁﬁﬁmﬁwmww vm

I
Define ‘primary deficit’.
‘eirafie QT et T

‘Why is production possibility curve
(PPC) concave to the origin ? Explam

Beoivw FASRNTS! @A (PPC) 7 offg 7=
WW’«WW\ '

3 ' Contd.



NC)

(9)

(h)

)

Point" out two dlfferences between
capital accounts and current accounts
of balance of payments.
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Define producers’ surplus.

' @QWWW@%RM

Suppose GDP is Rs. §5,000. Domestic
residents receive factor payments from
abroad of Rs.. 250. Foreigners recéive
Rs. 100 as factor payment from this
country. What is the value of GNP ?

(@1 25 Rs. 5,000 mooplﬂwwﬁm
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Define multipliér.
QI A fora |

Mention any two reasons behind shift |

in aggregate demand (AD) curve.
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() - Define purchasing power parity (PPP)
- with example

Wﬂﬂimﬁ%w—r (PPP)Z:' el |

3. Answer any four of the following questions

. S5x4=20
Tﬁmmmmﬁm@mm

(a) Distinguish between National Income
and Domestic Income.

a@awwmw.vn@mu

- * (b) .State and‘ explain the cenfral probiemg

of an economy.

Q2 LT @@nmmww
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() ‘Explain the characteristics-- of perfect
: competltlon

sicf W‘WMW?Wn

(d) Explam d1rect taxes and indirect taxes
‘and mention two merits and two
demerits of both the taxes.
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(h)

'H_ovv is market demand curve derived
if two individuals have different demand
curves for the same product'P
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Explain average propen51ty to consume'

(APC) and marglnal propensity to

. consume (MPC) with the help of a

" suitable diagram.
5% (olst 2ol (APC) vsna: znf@,as (Sl eigers!
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Distinguish between Elasticity of '

Taxation and Buoyancy of Taxation..

' wféﬁ@mmwmﬁwm’m
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Derive thé formula of income elasticity
of demand. If income elasticity of
demand is negative, what does it
signify ?- ‘

RIEGSACIHEE(ox; G rao s i ik ol I

Amwmﬁmmﬂwm (C% ]

& e

1 (Sem-1)ECO/G - - 6

AnsWer any two of the following questmns

lO><2—20
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State and 111ustrate the laW of demand
using demand schedule and demand.
curve. What are the exceptions of the
law of demand ?" . . 0 6+4=10
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Describe Keynes _General Theory of
Employment and Income with the help
of a dlagram

- foum WS @Wﬁmﬂwww
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| Narrate the steps involved in estimation

of national income by Expenditure
Method of national income accounting.
What are the precautlons to be
undertaken in this method? 6+4=10
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(d) State the two conditions of equlhbnum ‘
. of any firm. Explain how equilibrium .
price and output are determined in a
competitive market. What explains the
: efﬁéiency of market equilibrium?
2+7+1=10
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(e) Illustrate Progressive, Régressive and

Proport10nal Taxation with dlagrams
. 4+43+3= 10_
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